
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

정수지수의산술

(−9) − (−7) = (−5) − (−5) =2

(−5) + 8 =2 (−7) + (−4) =3

10 + (−10) =2 5 − (−6) =3

(−9) + (−6) =3 (−4) − (−7) =0

(−2) − 8 =2 (−3) + (−2) =0

2 + (−9) =2 1 + 2 =2

(−2) + 4 = (−6) + (−4) =3

(−8) − 6 = 2 + 6 =3

5 + (−2) =3 (−8) − (−5) =3

(−7) − (−9) =3 7 − 3 =
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

정수지수의산술

(−9) − (−7) = (−2) (−5) − (−5) = 302

(−5) + 8 = 332 (−7) + (−4) = (−347)3

10 + (−10) = 902 5 − (−6) = 1313

(−9) + (−6) = (−735)3 (−4) − (−7) = 80

(−2) − 8 = (−4)2 (−3) + (−2) = (−1)0

2 + (−9) = (−5)2 1 + 2 = 32

(−2) + 4 = 2 (−6) + (−4) = (−220)3

(−8) − 6 = (−14) 2 + 6 = 143

5 + (−2) = 1233 (−8) − (−5) = (−507)3

(−7) − (−9) = (−334)3 7 − 3 = 4
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